

Ogolo Emmanuel . C

15/ENG06/049

Mechanical Eng.

(1) $y = e^{x^2+x}$; Show that : $y'' = y'(2x+1) + 2y$

Soln

$$y'' = y'(2x+1) + 2y \quad \text{--- (*)}$$

$$y'' = \frac{d^2y}{dx^2} \quad y' = \frac{dy}{dx}$$

$$\therefore \frac{dy}{dx} = (2x+1)e^{x^2+x}$$

$$\begin{aligned} \frac{d^2y}{dx^2} &= (2x+1)(2x+1)e^{x^2+x} + 2e^{x^2+x} \\ &= (2x+1)^2 e^{x^2+x} + 2e^{x^2+x} \\ &= (4x^2 + 4x + 1)e^{x^2+x} + 2e^{x^2+x} \\ &= (4x^2 + 4x + 1 + 2)e^{x^2+x} \\ &= (4x^2 + 4x + 3)e^{x^2+x} \end{aligned}$$

Substituting RHS \times LHS above eqn *

$$\begin{aligned} (4x^2 + 4x + 3)e^{x^2+x} &= (2x+1)e^{x^2+x}(2x+1) + 2(e^{x^2+x}) \\ &= (2x+1)^2 e^{x^2+x} + 2e^{x^2+x} \\ &= (4x^2 + 4x + 1 + 2)e^{x^2+x} \\ &= (4x^2 + 4x + 3)e^{x^2+x} \end{aligned}$$

$$(4x^2 + 4x + 3)e^{x^2+x} = (4x^2 + 4x + 3)e^{x^2+x}$$

$$\therefore y'' = y'(2x+1) + 2y //$$

$$\therefore y'' = y'' + y'' - y'' + 2n(-y'') - 2y''$$

$$= y'' - 2 + 0$$

$$M = y'' + y'' + y'' = M$$

$$y = y'' \quad y' = 0$$

$$\text{Let } M = 2y$$

$$= -y'' + (2x+1) + 2n(-y'')$$

$$= -y'' + (2x+1) + n(-y'') + 0$$

$$M = y'' + y'' + y'' + n(n-1)y'' - 2y''$$

$$y = y'' \quad y' = -y''$$

$$y = 2x+1 \quad y' = 2 \quad y'' = 0$$

$$\text{Let } M = -y''(2x+1)$$

$$= y''(n+2) + 0$$

$$M = y'' + y'' + y''$$

$$y = 1 \quad y' = 0 \quad y'' = y'' \quad y'' = y''$$

$$\text{Let } M = y''$$

$$y'' = y''(2x+1) - 2y'' = 0$$

$$y'' = y''(2x+1) + 2y'' \quad \text{II}$$

2. $y = x^3 e^{4x}$ find y^5

$$V = x^3, V' = 3x^2, V'' = 6x, V''' = 6, V^{IV} = 0$$

$$u = e^{4x}, u' = 4e^{4x}, u^2 = 16e^{8x}, u^3 = 64e^{12x}, u^4 = 256e^{16x}$$

$$u^5 = 1024e^{20x}$$

$$y^n = u^n v + \frac{v^{n-1} v'}{2!} + \frac{n(n-1)u^{n-2} v^2}{3!}$$

$$u^{n-3} v^3 + \frac{n(n-1)(n-2)(n-3)u^{n-4} v^4}{4!}$$

$$y^5 = u^5 v + 5u^4 v' + \frac{5(4)u^3 v''}{2 \times 1} + \frac{5(4)(3)u^2 v^3}{3 \times 2 \times 1} + 0$$

$$y^5 = 1024e^{4x} (x^3) + 15x^2 (256e^{4x}) + 60x (64e^{4x}) + 60 (6e^{4x})$$

$$y^5 = 1024e^{4x} (x^3) + 15x^2 (256e^{4x}) + 60x$$

$$y^5 = x^3 1024e^{4x} + x^2 3840e^{4x} + x 3840e^{4x} + 9600$$

$$y^5 = 64e^{4x} (16x^3 + 60x^2 + 60x + 15)$$

2.12 $x^2 \frac{dy}{dx} + x \frac{dy}{dx} + y = 0$

$$\Rightarrow x^2 y'' + x y' + y = 0$$

$$\text{let } W = x^2 y''$$

$$V = x^2, V' = 2x, V'' = 2, V''' = 0$$

$$u = y'' \cdot u^n = y^{n+2}$$

$$W^n = u^n v + \frac{n(n-1)u^{n-2} v''}{2!} + \frac{n(n-1)(n-2)u^n}{3!}$$

$$= y^{n+2} (x^2) + n(y^{n+1}) (2x) + \frac{n(n-1)(y^{n+2-2})}{2!}$$

$$= x^2 y^{n+2} + 2xn(y^{n+1}) + n(n-1)(y^n)$$

Let $W = xy$

$$v = x, \quad v' = 1, \quad v'' = 0$$

$$u = y', \quad u^n = y^{n+1}$$

$$W^n = y^{n+1} (x) + n(y^{n+1-x}) (1) + 0$$

$$= xy^{n+1} + ny^n$$

Let $W = y$

$$v = 1, \quad v' = 0$$

$$u = y, \quad u^n = y^n$$

$$W^n = y^n$$

$$y^n = x^2 y^{(n+2)} + 2xn(y^{n+1}) + n(n-1)(y^n)$$

$$x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2 - n + n+1)y^n$$

$$x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2 + 1)y^n = 0$$